
ANSEL MESITA /

KSL-0003

ANSEL BEDSIDE



ANSEL MESITA /  ANSEL BEDSIDE 2/52/5

PIEZAS / PIECES HERRAMIENTAS / TOOLS

A x 2 B x 4 C x 4 D x 4

M6 x 10 mm

E x 1

4 mmM6 x 10 mm M5 x 12 mm

PARTES / PARTS

6

1

2

34

3

4

5

Read this instrucion carefully. Refer hardware and furniture parts list for guidance. Be sure all parts are complete, before assem-
bling. Place all wooden furniture part on a clean and flat soft surface to prevent scratcheds. Refer steps provided as assembling 
guide. 

Lea atentamemte estas instrucciones. Consulte la lista de piezas y partes de este mueble y asegúrese de que están todas las 
piezas antes de iniciar el montaje. Coloque todas las partes de los muebles sobre una superficie suave, limpia y plana para evitar 
daños. Consulte los pasos proporcionados como guía de montaje. 



ANSEL MESITA /  ANSEL BEDSIDE 3/53/5

PASO 1 / STEP 1

1

1

2

2

PASO 2 / STEP 2

D x 4

M6 x 10 mm

E x 1

4 mm

x 4

3

4

3

4

D

4

PASO 3 / STEP 3

A x 2 B x 4

M6 x 10 mm

1 1

B

A

6

6 6

A

B
6



ANSEL MESITA /  ANSEL BEDSIDE 4/54/5

PASO 4 / STEP 4

B x 2

M6 x 10 mm

1

5

5

1

B

5

1

1

5
B

PASO 5 / STEP 5

C x 4

M5 x 12 mm

x 4C

1

3

3

4



ANSEL MESITA /  ANSEL BEDSIDE 5/55/5

PASO 6 / STEP 6

1

2


